Séquence de Nombres Linéaires (J)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
7676 7671

|
7641

Différence commune:
| | | | | | | | | |
| | | | | | | | | |
8319 8369 8419 8469 8519 8569 8619
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
2658 2683 2733 2783 2808 2833
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
609 584 534 434 409
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6180 6170 6160
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
957 962 967 977 987 992 997 1002
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
7673 7653 7643 7633 7623 7613
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
2227 2207 2197

Différence commune:
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Séquence de Nombres Linéaires (J) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
7681 7676 7671

| | |
7666 7661 7656

|
7651

|
7646

|
7641

7636
Différence commune: -5
I I I I I I I I I I
8169 8219 8269 8319 8369 8419 8469 8519 8569 8619
Différence commune: 50
l l l l l l l l l l
2658 2683 2708 2733 2758 2783 2808 2833 2858 2883
Différence commune: 25
| | | | | | | | |
| | | | | | | | | |
609 584 559 534 509 484 459 434 409 384
Différence commune: -25
; ; ; ; ; ; ; ; ; ;
6240 6230 6220 6210 6200 6190 6180 6170 6160 6150
Différence commune: -10
I I I I I I I I I I
957 962 967 972 977 982 987 992 997 1002
Différence commune: 5
; ; ; ; ; ; ; ; ; ;
7683 7673 7663 7653 7643 7633 7623 7613 7603 7593
Différence commune: -10
I I I I I I I I I I
2227 2217 2207 2197 2187 2177 2167 2157 2147 2137
Différence commune: -10
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